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1. What s the vertex of y = 2(x + 1)5@ Gt
S v
W !
A) 2,-5 G v O (1, -5)
@ L A7

2. What is the vertex of y = —x* + 4x + 3?

T

A) (2,15)
B) (-2,7)

L=

A2

3. The following graph has the equation y = ax? + bx + c. Find the value of c.

S
A)V“\ \::{\(
Moz ¢\
Bl c=0_ N

D) Can't tell from the graph

A) Roffmir= ~# <z = 2—

Range = y<9
B) Domain = all real numbers
Range=y2>9

omain = all real numbers
Range=y<9
D) Domain = all real numbers

Range =y <-1

5. The height in feet of a volleyball that is served can be modeled by the function

h(t) = —16t% + 32t + 6 where ¢ is the time in seconds after the ball is served and A(1)
is height. What is the @_@,h;_igbt\in feet the volleyball will reach?

A) 1 foot
B) 6 feet

FJMH (2T

D) 32 feet

V= 2
T T 209
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- 242
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6. Write the following function into standard form: y = (7mx +6)
Fer 23 4203 - 6
EAS S S

A) y=21x*—-45x + 6 C)y=21x*—-6
B) y = 7x*+ 15x + 8 Yy =21x>+39x — 6

7. Write the following function into standard form: y = (3x + 3)% —
(3 *e3 ) %f%) — &

A)y=9x*+18x +5 ) C)y—9x +9 4a
:;y=9x_2+18x+9 D)y=9x2+5 FAKRaXFT -

3 M/ PR ‘“*'—*—-"*-\ q)( J‘l@){fﬂ""‘f
. Multiply: (2x — 4
ply: ( )* (“ \(RK SIE q\t ﬁxﬁm HE X 44~
A) 4x% — 16 (C)4x —16x+16) 42
B) 4x% + 16 D) 4x2 + 16x — 16 oL+l

9. Which is the standard form of the quadratic equation with x-intercepts of (-2, 0) and
(3,0)?

X:‘x (;5
‘ Qy=x2+x-6 AF*7° X3 "¢
)y—x2+5x+6 D)y=x%—5x+6 (42> £-20
LKP-3A 29 ~f

2
10. What is one of the factors of the following equation: y = x2+8x—9 A0

(K ~0)(K 49 )
A) (x+1) C)(x—9)

NAONCESD) D) (x + 8)

11. What are the factors of the following equation? Choose all that apply.
y = 5b*—8b +3
TS T3

A) (5b+ 3) )] EY(b—-1
B) (b+1) ‘E," % , ) F)(b+3)
12. Which of the following is a factor of 4x% —9? G\L ~3 >(2‘L +3>

A) (4x +9) C) (4x +3
B) (2x —9) m

13. What are the x-intercepts of the following equation: y = 5x% — 25x — 30
Ys $ (R sy -¢)

A) (-6,0) (1,0) 0.2.0)_(3.0) .
B) (-2,0) (-3,0) D) (6.0) (LD § CR XA
X==-}
14. Solve the quadratic equation: x2—6x—40=0 A2 o (-bzo
C)x=5x=8 K= - (=6
B) x=—10,x = 4 Dyx=-5x=8

Doyt 6 - 4O -ag)= 1

Y= éim - wzé/‘hﬁ’:(ow:ﬁ"

;u) 2 2 2
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15. Solve tl adrati ion: 2x% —48 = * "
ve the quadratic equation: 2x* — 48 :_2 21 - 5070 clist - 40)¢-s¢
A) x=+5x=—-5 Q) x=5 o
B) x = —=25,x =25 D)x=-5x=5 ot Voo otle
—
2¢2) Y@

16. Solve the quadratic equation: x* + 5x = —2 e

K2ESY L2270
A) x — _5+2\/§,x = —5—‘\/§-§

2
-5+iV/13 -5-iv13
B) X = X = -

— : = ¢t 2 -
T , Dyx= B p=TENE AG sT-q09(2)
‘ | 25-8
17. Solve the quadratic equation: 4x* = 2 — 4x{= -4 RED TN Ve
0
A) —1+2v3 ) (1) D)
_ (( +2 =u4®
B) —2+3 o O
18. Simplify the radical completely: V32 D) -0
\3* A= \t/\@—
A28 2 C) 2v4 T Tal
B) 4V2 w2 D) 16
19. Simplify the radical completely: v —~75 (VTS _
ey Z_ {,:5'\/3 ¢ 1'7—V%
A) iV75 053 © - 5
B) 53 ByING G 7 ¢
20. The discriminant tells us the . Choose all that apply.

_A) Number of zeros D) Solutions

Number and type of solutions > E) Value of the x-intercepts
O) Numverof ¥ e >

21. How many solutions and what type will the following quadratic equation have?

x2+4x+4=0 :

s (Y -uveq =0
A) 2 Real Solutions C) 1 Real Solufio
B) 2 Imaginary Solutions D) T Imaginary Solution

22. How many solutions and what type with the following quadratic equation have?
2 = 2 ) %
r8r=7  Kp-Tie A% g-qo)()

jpu—
A) 2 Real Solutions C) 1 Real Solution (Y4 26 = =t

B) 2 Imaginary Solutions D) 1 Imaginary Solution 25
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23, Which of the following quadratic equations will have imag
that apply.
2x2% 4+ 5x = -10 D%c2+9=0
BLx*—-15= E)32-3x+5=10

yx%+5x =14

24. Given the following graph of a quadratic equation, what wi

B) Negative

C) Zero

25. Which equation matches the given graph?

A) y<(x+1)(x—4)

C) y<(x—-—D(x+4)

& B y>@E+DHE-Y b G

D) y>(x—1(x+4)

GR PR Ch R R et * |

Hour

inary solutions? Choose all

Grafh of Sond
i %

11 the discriminant be?

peo F(0c9)
65 (o +(s7H)
6 >Q(J (""(3
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